=2 | Solve Using Guess-And-Check Name:

]

You have 35 sandwiches. If there are 7 fewer pastrami sandwiches

than ham sandwiches, how many of the sandwiches are ham?

O O O O Show your work
#2
|—J If there are 29 bananas in a fruit bowl. If there are 5 fewer ripe

bananas than green bananas, how many green bananas are in the

fruit bowl?
O O O O Show your work

#3
|—J In a game of lawn darts, two players throw a total of 34 darts. If the
darts are purple or orange and there were 8 more orange darts
thrown than purple darts, how many orange darts were thrown?

212316/26

o O O O

Show your work
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#4

Alexander has a total of 14 math and social studies homework questions to
complete. If there are 8 more math questions than social studies questions,
how many math questions does Alexander have to complete?

1YWy

Q O O O Show your work

#5
|—J There are 23 flowers in a garden. The garden contains only
sunflowers and roses. If there are 7 more sunflowers than roses, how
many sunflowers are in the garden?

1013815

O O O O Show your work

#6
|—J A basketball player makes 17 baskets during a game. If the player
scores 3 more two-pointers than three-pointers, how many two-
pointers did the player score?

13(8)10a1

O O O O Show your work
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#7
|—J A class of 23 students is going on a field trip to the ski hill. The
students can either ski or snowboard. If there are 9 fewer kids
snowboarding than skiing, how many kids will be skiing?

Q O O O Show your work
]

At the bird feeder there are 40 birds. If there are two types of birds

and there are 4 fewer robins than finches, how many are finches?

O O O O Show your work

#9
|—J There are 49 flowers in a garden. The garden contains only
sunflowers and roses. If there are 9 more sunflowers than roses, how
many sunflowers are in the garden?

3372029

o O O O

Show your work
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#10

There are 29 flowers in a garden. The garden contains only
sunflowers and roses. If there are 5 more sunflowers than roses, how

many sunflowers are in the garden?

2315170

o O O

O

Show your work

#11

A bag of candy contains 23 pieces of candy. If the candies are either
red or blue and there are 7 fewer red candies than blue candies, how

many of the candies are blue?

15161211

o O O

O

Show your work

#12

A bakery has 11 pieces of cake left at the end of the day. There are 9
fewer pieces of vanilla cake than chocolate cake. How many pieces

of chocolate cake are left?

(D10(8)a3

o O O

O

Show your work
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Question Answer
#1 choice 4
#2 choice 3
#3 choice 1
#4 choice 4
#5 choice 4
#6 choice 3
#7 choice 3
#8 choice 2
#9 choice 4
#10 choice 3
#11 choice 1
#12 choice 2
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